Contents lists available at ScienceDirect

## Applied Mathematics and Computation

journal homepage: www.elsevier.com/locate/amc

### Degenerate Mittag-Leffler polynomials

Dae San Kim<sup>a,\*</sup>, Taekyun Kim<sup>b</sup>, Toufik Mansour<sup>c</sup>, Jong-Jin Seo<sup>d</sup>

<sup>a</sup> Department of Mathematics, Sogang University, Seoul 121-742, South Korea

<sup>b</sup> Department of Mathematics, Kwangwoon University, Seoul, South Korea

<sup>c</sup> Department of Mathematics, University of Haifa, Haifa 3498838, Israel

<sup>d</sup> Department of Mathematics, Pukyong National University, Pusan 608-739, South Korea

#### ARTICLE INFO

MSC: 05A19 05A40 11B68 11B83 65D20 65O30

Keywords: Degenerate Mittag-Leffler polynomials Falling factorial polynomials Bernoulli polynomials Frobenius-Euler polynomials Umbral calculus

#### 1. Introduction

The classical Mittag-Leffler polynomials  $g_n(x)$  are given by ordinary generating function as

ABSTRACT

other known families of polynomials.

$$\sum_{n>0} g_n(x)t^n = \left(\frac{1+t}{1-t}\right)^x.$$
(1)

We present several explicit formulas and recurrence relations for the degenerate Mittag-

Leffler polynomials. We also give several connections between Mittag-Leffler polynomials and

with |t| < 1. The first few terms of them are  $g_0(x) = 1$ ,  $g_1(x) = 2x$ ,  $g_2(x) = 2x^2$ ,  $g_3(x) = \frac{4}{3}x^3 + \frac{2}{3}x$ ,  $g_4(x) = \frac{2}{3}x^4 + \frac{4}{3}x^2$ ,  $g_5(x) = \frac{4}{15}x^5 + \frac{4}{3}x^3 + \frac{2}{5}x$ . They were introduced by Mittag-Leffler in an investigation of analytic representation of the integrals and invariants of a linear homogeneous differential equation (see [21]). One refers to the paper of Bateman for the summary of basic properties of them (see [2,3]). In fact, the Mittag-Leffler polynomials can be expressed in terms of the Gauss hypergeometric function  $_2F_1$  as

$$g_n(x) = 2x_2F_1\begin{pmatrix} 1-n, 1-x\\ 2 \end{pmatrix},$$

for all  $n \ge 1$ . In that sense, they can be considered as a special case of the Meixner polynomials  $M_n(x; \beta, c)$  with  $\beta = 2$  and c = -1 (see [17]). Namely, their relation is

 $g_n(x) = 2xM_{n-1}(x-1; 2, -1).$ 

http://dx.doi.org/10.1016/j.amc.2015.11.014 0096-3003/© 2015 Elsevier Inc. All rights reserved.





© 2015 Elsevier Inc. All rights reserved.



<sup>\*</sup> Corresponding author. Tel.: +82 2 705 8871; fax: +82 2 705 8871.

*E-mail addresses:* dskim@sogang.ac.kr, kimdaesan@gmail.com (D.S. Kim), taekyun64@hotmail.com (T. Kim), tmansour@univ.haifa.ac.il (T. Mansour), seo2013@pknu.ac.kr (J.-J. Seo).

Also, the Mittag-Leffler polynomials satisfy the recurrence relation  $(n + 1)g_{n+1}(x) = (n - 1)g_{n-1}(x) + 2xg_n(x)$  with  $n \ge 1$ , and orthogonality relation

$$\int_{-\infty}^{+\infty} g_n(-iy)g_m(iy)\frac{dy}{y\sinh(\pi y)} = \frac{2}{n}\delta_{n=m}, \quad n,m \ge 1.$$

There are several interesting researches on Mittag-Leffler polynomials and their properties and generalizations (for instance, see [2,3,21,25,26]). In particular, a recent study of these polynomials together with a generalization can be found in [26] and an application of the Mittag-Leffler polynomials to an expansion for the Riemann zeta function is discussed in [24]. Note that the Mittage-Leffler polynomials are connected with the *Pidduck polynomials*  $P_n(x)$  by the expression  $P_n(x) = \frac{1}{2}(e^{d/dx} + 1)g_n(x)$ , where the Pidduck polynomials are defined by the generating function

$$\frac{t}{1-t}\left(\frac{1+t}{1-t}\right)^x = \sum_{n\geq 0} P_n(x)\frac{t^n}{n!}.$$

The aim of this paper to introduce the degeneration case of Mittag-Leffler polynomials, and study several properties of these polynomials. We also give several connections between Mittag-Leffler polynomials and other known families of polynomials. Following Roman [22,23], we define Mittag-Leffler polynomials as  $M_n(x) = n!g_n(x)$  so that

$$\sum_{n \ge 0} M_n(x) \frac{t^n}{n!} = \left(\frac{1+t}{1-t}\right)^x.$$
(2)

Then one can show that

$$M_n(x) = \sum_{k=0}^n \binom{n}{k} (n-1)_{n-k} 2^k (x)_k,$$

where  $(x)_n = x(x-1)(x-2) \dots x - (n-1))$  with  $(x)_0 = 1$  is the *falling factorial polynomials*. The degenerate Bernoulli polynomials, the first degenerate version of well-known families of polynomials, were introduced by Carlitz [5,6] and rediscovered by Ustinov [27] under the name of Korobov polynomials of the second kind. On the other hand, Korobov polynomials (of the first kind) are the degenerate version of the Bernoulli polynomials of the second kind (see [18,19]).

Recently, many researchers began to study various kinds of degenerate versions of the familiar polynomials like Bernoulli, Euler, falling factorial and Bell polynomials (see [9–14]) by using generating functions, umbral calculus, and *p*-adic integrals. Here we define the degenerate Mittag-Leffler polynomials and study their properties, and connections with other known families of polynomials by exploiting umbral calculus technique.

#### 2. Definitions and preliminaries

As a degenerate version of the falling factorial polynomials  $(x)_n$ , the degenerate falling factorial polynomials  $(x)_{n,\lambda}$  ( $\lambda \neq 0$ ) was introduced (see [11]) by the generating function

$$(1+\lambda)^{\frac{x}{\lambda}\frac{(1+t)^{\lambda}-1}{\lambda}} = (1+\lambda)^{\frac{x((1+t)^{\lambda}-1)}{\lambda^2}} = \sum_{n\geq 0} (x)_{n,\lambda} \frac{t^n}{n!}.$$
(3)

Clearly, we have that  $\lim_{\lambda \to 0} (x)_{n,\lambda} = (x)_n$ . As to explicit expression for  $(x)_{n,\lambda}$ , the following are obtained

$$(x)_{n,\lambda} = \sum_{k=0}^{n} \left( \frac{\log (1+\lambda)}{\lambda} \right)^{k} S_{1}(n,k|\lambda) x^{k}.$$

where  $S_1(n, k|\lambda)$  are the degenerate Stirling numbers of the first kind given by the generating function

$$\frac{1}{k!} \left( \frac{(1+t)^{\lambda} - 1}{\lambda} \right)^k = \sum_{n \ge k} S_1(n, k|\lambda) \frac{t^n}{n!}.$$
(4)

For convenience, we put  $S_1(n, k|\lambda) = 0$  for all  $0 \le n < k$ . Clearly, we have that  $\lim_{\lambda \to 0} S_1(n, k|\lambda) = S_1(n, k)$ , the ordinary Stirling number of the first kind, and one can show that

$$S_1(n,k|\lambda) = \sum_{m=k}^n S_1(n,m)S_2(m,k)\lambda^{m-k},$$

where  $S_2(m, k)$  is the ordinary Stirling number of the second kind. Further, if we set

$$(x)_{n,\lambda} = \sum_{k=0}^{n} S_1(n,k||\lambda) x^k$$

Download English Version:

# https://daneshyari.com/en/article/6419964

Download Persian Version:

https://daneshyari.com/article/6419964

Daneshyari.com